
 

  

 

 

B.Com. DEGREE EXAMINATION — 

DECEMBER 2018. 

Second Year 

Corporate Secretaryship 

BUSINESS STATISTICS 

Time : 3 hours Maximum marks : 75 

PART A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. What is meant by statistics? 

 ¦ÒÎ°¯À GßÓõÀ GßÚ? 

2. Define standard deviation. 

 {¯©a\õ´Ä C»UPn® u¸P. 

3. Give the regression equations, deviations taken 

from actual mean and assumed mean. 

 Esø©¯õÚ \µõ\› ©ØÖ® ³QUP¨£mh \µõ\›°ß 
\õ´ÄPÎ¼¸¢x GkUP¨£mh ¤ßÚøhÄ 
\©ß£õkPøÍz u¸P. 
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4. From the following prices of six different 

commodities for 2006 and 2007, compute a price 

index by simple aggregative method. 

Commodities Price in 2006 

(Rs.) 

Price in 2007

(Rs.) 

A 40 50 

B 60 60 

C 20 30 

D 50 70 

E 80 90 

F 100 110 

 2006, 2007® BsiØPõÚ RÌUPsh BÖ ÁøP¯õÚ 
ö£õ¸mPÎß Âø»ø¯U öPõsk GÎ¯ 
J¸[Qøn¢u •øÓ £¯ß£kzv SÔ±mk Gs 
PnUQhÄ®. 

ö£õ¸mPÒ 2006 – ß Âø» 
(¹.) 

2007 – ß Âø»
(¹.) 

A 40 50 

B 60 60 

C 20 30 

D 50 70 

E 80 90 

F 100 110 
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5. Production of rice in a district during the last 10 

years is given below : 

Year : 2001 2002 2003 2004 2005

Production (in tonnes) : 11,200 12,300 10,600 13,400 13,800

Year : 2006 2007 2008 2009 2010

Production (in tonnes) : 14,500 11,600 14,300 13,600 15,400

 Using 3-yearly moving average indicate the trend 

in the production of rice in the district. 

 Kº ©õÁmhzvß A›] EØ£zv £zx BskPÐUS 
R÷Ç öPõkUP¨£mkÒÍx. 

Á¸h® : 2001 2002 2003 2004 2005

EØ£zv (hßPÎÀ) : 11,200 12,300 10,600 13,400 13,800

Á¸h® : 2006 2007 2008 2009 2010

EØ£zv (hßPÎÀ) : 14,500 11,600 14,300 13,600 15,400

 ‰ßÖ Á¸hõ¢vµ |P¸® \µõ\› •øÓø¯¨ 
£¯ß£kzv ©õÁmhzvß A›] EØ£zv ÷£õUQøÚz 
öu›ÂUPÄ®. 

PART B — (4  15 = 60 marks) 

 Answer any FOUR questions. 

6. From the following data of the marks obtained by 

60 students of a class, obtain Arithmetic mean : 

Marks : 20 30 40 50 60 70

No. of students : 8 12 20 10 6 4 
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 RÌUPsh uPÁÀPÎ¼¸¢x 60 ©õnÁºPÒ ö£ØÓ 

©v¨ö£sPøÍU öPõsk GsPou \µõ\›ø¯U 

PshÔP. 

©v¨ö£sPÒ : 20 30 40 50 60 70

©õnÁºPÎß GsoUøP : 8 12 20 10 6 4 

7. Calculate the standard deviation from the data 

given below : 

Size of item : 3.5 4.5 5.5 6.5 7.5 8.5 9.5

Frequency : 3 7 22 60 85 32 8 

 RÌUPshz uPÁÀPÎ¼¸¢x {¯©a\õ´Ä PnUQkP : 

uÛ¨¦ÒÎ°ß AÍÄ: 3.5 4.5 5.5 6.5 7.5 8.5 9.5

AvºöÁs : 3 7 22 60 85 32 8 

8. Calculate Karl Pearson’s coefficient of correlation 

from the following data : 

X : 6 8 12 15 18 20 24 28 31

Y : 10 12 15 15 18 25 22 26 28

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x PõºÀ ¤¯º\ß 

öuõhº¦PÎß SnP® PnUQkP. 

X : 6 8 12 15 18 20 24 28 31

Y : 10 12 15 15 18 25 22 26 28
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9. Calculate Fisher’s Ideal Index from the following 

data : 

Items Base Year Current Year

 Qty Price Qty Price 

A 15 4 10 6 

B 20 7 25 4 

C 10 6 20 5 

D 30 5 25 5 

 RÌUPshz uPÁÀPÎ¼¸¢x ¤Lè\º ]Ó¢u SÔ±mk 
Gs PnUQhÄ®. 

ÁøPPÒ Ai¨£øh Bsk |h¨¦ Bsk

 AÍÄ Âø» AÍÄ Âø»

A 15 4 10 6 

B 20 7 25 4 

C 10 6 20 5 

D 30 5 25 5 

10. Compute the trend values by the method of least 

squares from the data given below : 

Year : 2000 2001 2002 2003 2004 2005 2006 2007

Sales units : 56 55 51 47 42 38 35 12 

 SøÓ¢u \xµ •øÓ¨£i RÌUPshz uPÁ¼ß 
Ai¨£øh°À ÷£õUS ©v¨¤øÚU PnUQkP. 

Bsk : 2000 2001 2002 2003 2004 2005 2006 2007

ÂØ£øÚ A»SPÒ : 56 55 51 47 42 38 35 12 
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11. Describe the scope of Business Statistics. 

 ÁoP¨ ¦ÒÎ°¯¼ß ÷|õUP[PøÍ ÂÁ›. 

12. What are the various components of Time Series? 

 ÷|µ® öuõhº SÔzu £À÷ÁÖ TÖPÒ ¯õx?  

——————— 
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